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lnstructions to Pupils:
1. Do not open the booklet until you are told to do so.
2- Follow all instructions carefully.
3. This paper consists of 3 parts, Sections A, B and C.
4. Answer allthe questions.

Maximum lUlarks Marks Obtained

Seltion A 8 marks

Section B 10 marks

Section C 12 marks

Total 30 marks

" This booklet consists of 10 printed pages (includtng lhis cover Page).



Section A (8 marks)
oiai"* i to + cj,try 1 mark each. Qu^estions 5 and 6 carry 2 marks each'. For

;;r- question, four option" are given. one of them is the correct answer. Make

v"*-.ri-t"r* (t, z, s oi+)- Writ" your answers in the brackets provlded'

Alt dlagramsh this paper are not drawn to scale unless sfated atherwlse.

1- Which of the foltowing lines is parallel to line CD?

(1)

(21

(3)

(4)

2. \rVhich of the following i9 the same as g kg 35 g?

(1) e35 s

(21 e035 s

(3) e3o5 s

(4) 935o g
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3. Which of the following fradlons ls the smallest?

(1)

(3)

(4)

4. What is the missing number in the box?

3=1
12
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5. Which fraction is greatertn* ]f

(1)

(2)

(3)

(1)

(2)

(3)

(4)

4

Amy's
house

3

7

4

5

1

3

6.

(4)
11

Amt's house and John's house ane on the same street.
The distance between Amy's house and the bus stop is 2 km 70 m
The distance between John's house and the bus stop is 650 m.

What is the distance between Amy's house and John's house?

( )

Bus stop
John's
house

650 m

m

380 m

1km357m

1km42Om

2km50m )

4 (Go on to the next page)



9.
71

Find the value of 
10 - ,.

Give your answer in tlre sinrplest form'

10. What are the values of A and B? Girre your ansffer in the simplest form

Ans: A-

Ans: B -

3

4
5

B
B

3

B
A

Do not wrile
in lhis space
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11 The diagram below shows two weighing scales and two oblects, D and E.

Hor muclr haavleris D than E?

Ans: g

D D E

lkg3kg

s 500

Do nol wrile
ln this sPace
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Sectlon C {12 marks}
Questions 12 to 14 carry 4 rnarks each. Show your worklng clearly and write your
answers in the spaces provided. The number of marks available is shown ln
brackets [ ] at the end of each question or part-questlon-

12.

(a)

Ahmad iogged (500 m. He jogged 555 m rnore than his sister.

What was the distance Ahmad's sister iogged?

Ans: (a) t2t

Oo not write
in thls sPace

(b) Rrd the total distance Ahmad and his sister jogged-

Give your answer in km and m.

21

I

Ans: (b)

(Go on to the next page)



13 Mrs Tan spent $56B.
Mrs Chandran spent twice as much money as Mrs Tan.
Mdm Zu spent $300less than Mrs Chandran.

(a) How much money did Mrs Chandran spend?

Ans: (a) tlI

Do nol wrile
ln thls sPace

(b) How much rnore rpney did Mdm Zu spend than Mrs Tan?

t3I

I

Ans: (b)

(Go on to the naxt page)



14.

(a)

ln a bakery shop, 3 buns are sold for $g

Mrs Han has $50.
How many buns can Mrs Han buy at most?

Ans: (a)

3 Buns for $8

,<sl'<\s-r,..fflll----' l__--./ \:-----'

Do not write
ln this space

121

(b) Mr Sng bought 81 buns. How much did he pay for the buns?

Ans: (b) 121

End of Paper
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8km 445m

413 (a) 568x2=1136

013 (b) Etiofd I frJlf trIf.LU]II
836-568=268

w"w #seffi,$f,#, 6F#tr#,qd#

-Tr l-l

N!!tt

:b t I I Iltil

/-b, /-a, /-c

https://freetestpaper.com/


:

-

Q1a (a) 50+8=6R2
6x3=18

014 (b) 81 + 3=27
27 x8=216


